> A
A & 0l & AF 2 E A A
A0l X2t
FH: HUX MHSH(AY - SA2ISLUEX/0UE KR IR
S ATHMUUEX Y & ES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ofl LA X1 2 80,901,351 63,398,417 17,502,934
2 51,115,253
J| 1,861,466
= 27,924,632
HUX MHsH(AY - ZSAIS L0 U X /0l XY XHR R 37,331,510 50,341,940 A 13,010,430
@)
2 26,243,253
J| 1,861,466
< 9,226,791
AN EHX e & 25 6,061,226 14,819,274 A 8,758,048
2 308,000
J| 1,861,466
< 3,891,760
OHXEz =& 9,000 9,000 0
202 O4dl 9,000 9,000 0
01 = LH 4 bl 9,000 9,000 0
oMuUXIz® dR= 9,000
ATHA0HXIEAIZE 22 =& 78,000 80,600 A 2,600
201 LBt | 60,000 60,000 0
01 At 22l 30,000 30,000 0
OAMEHHXHEAIZ 2H 30,000
02 =24l 30,000 30,000 0
OATHHUHUHXIEAZ Z2L23 30,000
401 Al HIZ 201 I 18,000 18,000 0
01 A& HI 18,000 18,000 0
OAMMMEHHXMAIZ AlE K22 18,000
ATHAOI X AlE 22 755,000 505,000 250,000
201 Let24d] 720,000 450,000 270,000
01 At 22l 30,000 30,000 0
OATHMO X AR 29 30,000
02 =224l 690,000 420,000 270,000
OLUMEUHUHX ZAELX B2 50,000
OATHAM O X &HEHR] oHM &l 70,000
OATHMU UK EMEX A S 2He2A 520,000
OMTHMUUHX XX HI| HHE = 50,000
202 04 Hl 15,000 15,000 0
01 = LH 4 Hi 15,000 15,000 0
OMMMUUX LRFZ 15,000
401 A& HIZ 201 I 20,000 20,000 0
01 A& HI 20,000 20,000 0
OATHAU L X ZMEEX Al 2te] 20,000




2N
X ZH -
L= B

el

Off LA X1 2t

MUX S - SAILLHNER/HHX L IR0

ATHAMUHR Y & 25

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ATHAN X XNSXA (=) 870,566 1,119,675 A 249,109
J| 870,566
403 UHXSHHSA=0l& 870,566 1,119,675 A 249,109
J| 870,566
01 X SHHMA=E L 870,566 1,119,675 A 249,109
OEHLZLAEALE & 870,566
J| 870,566
NAMHRNESY AIEET AL (=) 308,000 388,000 A 80,000
= 308,000
403 UtXISHH S0l & 308,000 388,000 A 80,000
= 308,000
01 X SHMA=2EE 308,000 388,000 A 80,000
OXNAUHUHRZES ANEEXAEY 308,000
= 308,000
FHAHNS WX SXASE(=2) 1,132,900 1,911,114 ATT78,214
J| 990,900
< 142,000
403 XIS E X201 E 1,132,900 1,911,114 ATT78,214
J| 990,900
< 142,000
01 XXM 22 = 1,132,900 1,911,114 AT78,214
OMASE & MI=XAE LEDS A 1,132,900
J| 990,900
< 142,000
ATHHA UK =S XML (2 HEEXHA) 2,598,960 1,095,870 1,503,090
403 Ut SHHSA=0l& 2,598,960 1,095,870 1,503,090
01 X ESHHMA=LE L 2,598,960 1,095,870 1,503,090
OAITHA Ol L Xl =&K& ALY 2,598,960
EHEEDIE & SSHE M 28 H ALY 150,000 0 150,000
207 A O] 150,000 0 150,000
01 289 150,000 0 150,000
OEHHMIIE & S LM 2CH ALY EtEd
BN 150,000
XIS &AL 100,000 0 100,000
403 Ut SHHSA=0l& 100,000 0 100,000
01 HXSHMA2E X 100,000 0 100,000
OZEA LEDZZE AMEESAMIZ 100,000
OHIIE =) MMM ESAY 58,800 53,793 5,007
403 MtXISHHE =0l & 58,800 53,793 5,007
02 S 2SHHEAEE 2 E AL 58,800 53,793 5,007
O Ao FX &X 58,800




2N

X{ XH -
S =

£

ol 4 X1 2t
MUR LMY - Sa0Y
SO X K2l

LOHUEX/0H X2 )

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ol L4 Xl KH& 22| 11,109,481 25,054,356 A 13,944,875
= 9,513,328
< 1,596,153
SOHE IISHe PG A8 MY ESAE(22) 300,000 300,000 0
= 300,000
403 A X EHHS 20l A 300,000 300,000 0
= 300,000
01 XM A=LE L 300,000 300,000 0
O=s0E OI=H9 PG A8 T BE=S M 300,000
= 300,000
NBIE JIAAAE e (=22) 392,726 1,872,281 A 1,479,555
= 365,328
= 27,398
403 MHtXSHHSA=0l& 392,726 1,872,281 A 1,479,555
= 365,328
< 27,398
01 HXSHMA=2E X 392,726 1,872,281 AN 1,479,555
OMBIE JIAANA JHA 392,726
= 365,328
< 27,398
=2 LPGH 22 AIE A XIH XA (=1) 10,263,680 22,818,500 A 12,554,820
= 8,848,000
< 1,415,680
403 MRS E X201 E 10,263,680 22,818,500 A 12,554,820
= 8,848,000
< 1,415,680
01 AXSHMA2E X 10,263,680 22,818,500 A 12,554,820
O &t LPGHH 2t Al& & XIHl XI& 10,263,680
= 8,848,000
= 1,415,680
SHE IS AMY X2 (2HEEXA) 143,075 53,575 89,500
403 A X EHHS 20l A 143,075 53,575 89,500
TAXEH =2 X 143,075 53,575 89,500
Os0HE HIISSAYE =& 143,075
SEH HUX =5 - 22 =& 10,000 10,000 0
202 Oddl 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0
Os8X dudXi2el gRFA 10,000
IS B2 20,160,803 10,468,310 9,692,493
= 16,421,925
< 3,738,878
HMII01E2X B2 XA (=21) 307,970 325,000 A 17,030
= 236,900




2N

Off LA X1 2t

I OUN 4YSE (MY AL LT /HUKL TR )
& IS ES (cho &)
4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

< 71,070

403 MtXISHHSA=0l& 307,970 325,000 217,030
2 236,900
< 71,070

01 RXISHIEEE 307,970 325,000 17,030
OFIIOIER 23 307,970
= 236,900
< 71,070

HAIMAXE 2UH N (21) 64,350 350,350 A 286,000
= 49,500
< 14,850

403 XIS E X201 & 64,350 350,350 A 286,000
= 49,500
< 14,850

01 AXSHMA=2EER 64,350 350,350 A286,000
OdEGAIATE 2UH EX 64,350
= 49,500
= 14,850

HMHIARE Agdl XNA(=21) 287,950 169,000 118,950
= 221,500
< 66,450

403 HXSHHSA=0l& 287,950 169,000 118,950
= 221,500
< 66,450

01 X SHHMA=LE L 287,950 169,000 118,950
OHAHIAXE HZH EX 287,950
= 221,500
< 66,450

ISR 20 XNE(=1) 19,475,900 9,614,960 9,860,940
= 15,902,000
< 3,573,900

403 MtXISHH S0l & 19,475,900 9,614,960 9,860,940
= 15,902,000
= 3,573,900

01 XM A=2EE 19,475,900 9,614,960 9,860,940
O&IINAsS X F20 K& 19,475,900
= 15,902,000
< 3,573,900

HMIIKNSA BiEe s=2el XN (=1) 15,633 0 15,633
= 12,025
= 3,608

308 XtXIEHH SOl A 15,633 0 15,633
= 12,025
< 3,608

01 X HHILEXS 15,633 0 15,633




A0l X

FH: HUX MHSH(AY - SA2ISLUEX/0UE KR IR
ool ABANER B2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&IIXtS X BHEeEl sl+=22 XI& 15,633
= 12,025
< 3,608
Edns 22 =4 9,000 9,000 0
202 044l 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
od s E5 gR=H 9,000
JIZHSUA =X (2 /sdE2sdbt) 3,300,300 1,771,800 1,528,500
= 1,779,500
< 1,520,800
Ji=Hs (e =& 2,932,800 1,422,800 1,510,000
= 1,475,000
< 1,457,800
StRJI=RaARA XA 1,450,000 800,000 650,000
306 =932 1,450,000 800,000 650,000
01 &3 1,450,000 800,000 650,000
Ost=JI=dsd2d 29 XN& 1,450,000
lzdsttie 858 =4 7,800 7,800 0
202 4l 7,800 7,800 0
01 = LH 4 b 7,800 7,800 0
OJl=Hsi® 2= 7,800
BAJIZANAE BAZSY Z2IOY(2D) 435,000 465,000 A 30,000
= 435,000
403 XM SA=0l& 435,000 465,000 30,000
= 435,000
01 HXSHHMA2E X 435,000 465,000 A 30,000
OEZIZANE EHLE LHAE &X 435,000
= 435,000
IlEHst S STAE(21) 190,000 0 190,000
= 190,000
403 XSS X201 & 190,000 0 190,000
= 190,000
01 AXSHMA=2EE 190,000 0 190,000
O HAILEX2 HH=3 ALY 190,000
= 190,000
NEEs IS FHad AL (21) 850,000 0 850,000
= 850,000
403 A X EHHS =0l A 850,000 0 850,000
= 850,000
01 X HHMA=E L 850,000 0 850,000
OS&eT Al A 28 2= 850,000
= 850,000




A0l X2t
BE: J|SHAUH 23 (Y /BLR5AY)
el JIBHANS o RO (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ISHENS U VNN 367,500 349,000 18,500
= 304,500
< 63,000
EtAEQERH 22 (=1) 128,000 126,000 2,000
= 128,000
308 XX EHH SOl A 128,000 126,000 2,000
= 128,000
01 AXSHBLAELS 128,000 126,000 2,000
OJIZXN XM HAZOIEH 29 K& 128,000
= 128,000
NSI BAZOEH 29(=21) 4,500 0 4,500
= 4,500
308 XXM S0 A 4,500 0 4,500
= 4,500
01 AXNSHHBLAEES 4,500 0 4,500
OXNSI HAHZCEH 29 4,500
= 4,500
JIsdzlusdH 29 XNA(=1) 60,000 60,000 0
= 30,000
< 30,000
307 21201 A 60,000 60,000 0
= 30,000
= 30,000
02 QIZHE A ASE X 60,000 60,000 0
OJI=dstu=s SlE23 60,000
= 30,000
= 30,000
HIAEEE AIHE 240tA AL E X3 (21) 66,000 66,000 0
= 33,000
< 33,000
307 gl2tol & 66,000 66,000 0
= 33,000
< 33,000
02 IZtE M AIHE L 66,000 66,000 0
oY J=SIJUERNT &3 XA 66,000
= 33,000
< 33,000
HIAQES AIIE 2AJIA FSASLE JIEX XA 84,000 97,000 A 13,000
g2z N (=2)
= 84,000
308 XX EHH SOl A 84,000 97,000 213,000
= 84,000
01 AXSGHBELS 84,000 97,000 A 13,000
OJI=ZXXH ALE &5 X2 84,000




A0l X

HE: J|SHEHHY =X (HY/BFL5AY)
Sl JISHSNS U RCMHIY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| = 84,000
A2 UIIM” X AIAE &EX XS (=22) 25,000 0 25,000
= 25,000
403 UHXISHHSA=0l& 25,000 0 25,000
= 25,000
01 HXESHHMA=E X 25,000 0 25,000
OH=E UIIX¥H X AIAE X X2 25,000
= 25,000
HUX A& (MY - SLAILHLUUHX/MSEAE - 35,305,700 6,920,000 28,385,700
&3
= 23,092,500
= 12,213,200
LRETE =244Y 84 34,900,700 6,235,000 28,665,700
= 23,092,500
< 11,808,200
F=AFEL X A (=21) 9,000,000 6,000,000 3,000,000
= 7,200,000
= 1,800,000
403 A X EHHS =0l A 9,000,000 6,000,000 3,000,000
= 7,200,000
< 1,800,000
01 X EHHMA=E L 9,000,000 0 9,000,000
AL FEHE N 9,000,000
= 7,200,000
< 1,800,000
A2 Wt MAAIE ASAHY 1,500,000 0 1,500,000
403 HXSHHSA=0l& 1,500,000 0 1,500,000
02 I 2S0Het A=A 2 & Ar 1,500,000 0 1,500,000
OA7R Mot MUMALE 2= 1,500,000
a2g WA SHE A FH 300,000 0 300,000
308 XXM SO0l A 300,000 0 300,000
10 B2 S0 B&XHAE A 300,000 0 300,000
ONEZS Uat=A MAAL Al 300,000
=04 24 5,000 5,000 0
202 (44l 5,000 5,000 0
01 SLHOIYI 5,000 5,000 0
O%xLbe BN URxa 5,000
2SI ES A (=22) 23,122,500 130,000 22,992,500
= 15,892,500
< 7,230,000
403 Ut E X201 & 23,122,500 130,000 22,992,500
= 15,892,500
< 7,230,000




A0l X2t
FH: U A& LMY - SAIGLUHUX/MLETE - DE3FH)
Ol UATH 2AMY T CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 23,122,500 130,000 22,992,500
O=AFINSX RAXH 23,122,500
= 15,892,500
< 7,230,000
=ATEL 2Y 473,200 0 473,200
308 XXM SOIA 473,200 0 473,200
10 I 2 SO0CHetE & X 2 E AL HI 473,200 0 473,200
AL 298 X 473,200
A0S HE 500,000 0 500,000
403 XM S =0l A 500,000 0 500,000
02 SO 2SOIlCHEH A2 X 2| & A I 500,000 0 500,000
A0S i 500,000
Ol A XIICT Jlgtx=d 405,000 185,000 220,000
Ol X &lare sS4 30,000 30,000 0
201 Let24d] 30,000 30,000 0
01 At 22/l 30,000 30,000 0
O0URX daty g, g8 F& 30,000
UK Z250 AEFA 5,000 5,000 0
202 O4dl 5,000 5,000 0
01 = LH o4 Hi 5,000 5,000 0
ONURXl T2 HdRFX 5,000
SICIOIEH JI1BF DtE 2 B 2A2AAE 25 2 2 90,000 50,000 40,000
o
308 A EHHSOIA 90,000 50,000 40,000
1037/ 2S0HUHeBHEAEALS I 90,000 50,000 40,000
OJMEE B 22 2 90,000
fcld HIMSE ALY =& 180,000 100,000 80,000
308 XX EHH SOl 180,000 0 180,000
10 B2 SOHUHSZAEEALS I 180,000 0 180,000
o=cl¥ HIIM3S M =i 180,000
= e Ao Hel & SRAMHA SRS W 100,000 0 100,000
(SHEXH)
402 2I2H X201 M 100,000 0 100,000
01 2I2F 2 A B (KR 100,000 0 100,000
OFEHa dHHANY X SFRAHA SRS
= 100,000
HY2FZH (ol X)) (IIEHIIE 163,841 164,677 A 836
ol 2l 112,348 108, 362 3,986
ATHMENHXEAZ2 2 112,348 108, 362 3,986




A0l X
HH: HHE2IZHI(0UEXI)(OIEH/IIE)

Sel: o2y CEEEED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
101 14 Hl 112,348 108, 362 3,986
03 RIAHAZ 22+ 112,348 108, 362 3,986
OATHMUHUHXIEAIZ SSE ol24H| 112,348
oJlezzss) 2,027,570 x12& 24,331
oJe3(7-8s8)
(2,071,950 «6& )+(2,114,520 «6 & ) 25,119
oJlezg9ss) 2,155,380& 128 25,865
Od=2xg(6s=
(2,027,570& *15%)+(2,027 , 570 *20%) 710
O&d=2>¢ (782 8)
(2,071,950 *30%)+(2, 114,520& *30%) 1,256
O&d=2+¢((9s8)
(2,155,380 35%)+(2, 155, 380 *40%) 1,617
O¢xea&sitx-g(658) 86,4803 x15&! 1,298
OdXRZSEI+L(7-858) 88,9603 *15L 1,335
O¢eagHsg(958) 91,360 x15 1,371
OAlZt 2222 (653)
10,810 »150%*20Al 2+ x12& 3,892
OANZ2R+d(758-858)
11, 1202 150%*20 Al 2+ x 12& 4,004
OAlZt 2222 (988)
11,4202 x150%*20 Al 2t 12& 4,112
Og&EFIHHI (65 2) 2,027,570& x50%*23| 2,028
OYEEIHHI (785 8)
(2,071,950 *50%)+(2, 114,520 *50%) 2,094
OYEFIHHI (95 &) 2,155,380 x50%*23] 2,156
Oz aldl 130,000& »12& »3H 4,680
Oul SH| 100,000& =128 »3H 3,600
OnsEe 80,0003 x12& 3 2,880
Jl=234l 51,493 56,315 A4,822
SH2Y JlEAY 51,493 56,315 ~4,822
201 et 34,273 37,115 A2,842
01 At 2teltl 34,273 37,115 A2,842
EA2Y ARl 34,273
202 O4dl 12,420 15,000 A 2,580
01 S LHAYI 12,420 15,000 A 2,580
FN2E =LY 12,420
203 &R =T bl 4,800 4,200 600
04 FN2ELSZ=TH 4,800 4,200 600
©30¢! Olat 400,000& 128 4,800
HEES(OURID) (A - SAI ALK/ XL R 4,800,000 4,200,000 600,000
2o




2N
X ZH -
L= B

el

Off LA X1 2t

WEAHAH X =

HRES(HUXD) (MY - SAITS LU X/ X LX)

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
WEHAH XK= 4,800,000 4,200,000 600,000
NATG2AANEN SESH 2 4,800,000 4,200,000 600,000
701 JIEIS HSHES 4,800,000 4,200,000 600,000
01 JIEtSI HE E = 4,800,000 4,200,000 600,000
OXNSGXNAEM SEIH 29 4,800,000




N & o & AF & H Al A
A0l X2t
FH: HUX MHSH(AY - SA2ISLUEX/0UE KR IR
Eel ATHMOUR K & ES(RNAXNFAMENSLESA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ofl LA X1 2 2,962,000 2,422,000 540,000
01“):|I| ML (MY - LIS LU X /0l X AR OH 2,133,204 1,630,257 502,947
4
ATHANMUX HE L ES(NANAENELSH) 21,000 21,000 0
X2 s 82, 8AM FXA 21,000 21,000 0
201 £B-2d| 21,000 21,000 0
01 At 22l 21,000 21,000 0
ONUX2E e, 8, 8AM FX 21,000
HUER Zr22el(RNSR2ALENSESH) 2,112,204 1,609,257 502,947
HASE 18 I3 IHAAMALE(EIOIHS) B3 = 36,000 54,000 A 18,000
&l
403 X SHH S X =0l & 36,000 54,000 A18,000
01 X EHHMA=LE XL 36,000 54,000 A 18,000
ONASE 103 I3 JIAANE B2 36,000
SANIA AAXSE S=SELXH XA 1,501,204 1,034,257 466,947
403 UHXSHHSA=0l& 1,501,204 1,034,257 466,947
01 XM= LE L 1,501,204 1,034,257 466,947
OZAIJIA A2AXY 224X H X 1,501,204
SHE LPGASEMEHI AM&E4XId K& 450,000 450,000 0
403 XSS A0l & 450,000 450,000 0
01 HIXSHMA=2E X 450,000 450,000 0
Os0E LPGAE MY AIZLXH K& 450,000
MOIAE D K& 48,000 48,000 0
403 Ut S E X201 & 48,000 48,000 0
01 X SHHA2E= 48,000 48,000 0
OMASE ==HIIANE HA 48,000
HSAIE IS ol 50,000 0 50,000
403 XIS E X201 H 50,000 0 50,000
01 X EHHM A= EE 50,000 0 50,000
OXHSAIE &A HIIZAMA 2T XN 50,000
SAIIA BZHE S4EEH =X 27,000 23,000 4,000
207 Ao 2| 27,000 23,000 4,000
01 2284 27,000 23,000 4,000
OEAIA SSHE ¢EEHA 27,000
JIZHHsUA FA (2 /8dE2s528h) 50,000 640,000 A 590,000
IIZEHS S FA(NANIAANLMEL S AH) 50,000 640,000 A 590,000
EFAUIES ALY S OIS MIISEME KX 50,000 50,000 0




A0l X

HE: J|SHHM RN (HY/HALSAY)
Sl JIEHE U =R(NAXALNSESA)

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
308 XXM SO0 A 50,000 50,000 0
10 SO 2 SOICHE B & X 2 E A HI 50,000 50,000 0
OAMSIBE ALY =2 50,000
HUX Al (ALY - SAILHLUUHX/MSEE 700,000 0 700,000
DT
A0 S A FEA(KNDAURAILSMELESIA) 700,000 0 700,000
D MEALZE X 700,000 0 700,000
308 XXIEHSO0IA 700,000 0 700,000
10 BN 2SUHUEEAHEAE A 700,000 0 700,000
©2020 =M= I 700,000
ollglbl (oliBlBl/ollBlbl) 78,796 151,743 ANT2,947
GlEIBIH (RIS XIAIEMSE S A ) 78,796 151,743 ANT2,947
ol Bl Bl 78,796 151,743 ANT2,947
801 Gil Bl dl 78,796 151,743 ANT2,947
01 Eroil bl bl 78,796 151,743 ANT2,947
(©uIN=1Rs] 78,796




